Converting Units of Area
Kilometres and Metres

1km
=
1000m

1km2
=
1km  

x  
1km


=
1000m
x
1000m
=
1000000m2
To convert from km2 to m2
· Multiply the number of m2 by 1000000

1km2
=  
1000000m2
To convert from m2 to km2
Divide the number of cm2 by 1000000
Metres and Centimetres

1m
=
100cm

1m2
=
1m  

x  
1m


=
100cm
x
100cm
=
10000cm2
To convert from m2 to cm2
· Multiply the number of m2 by 10000

1m2
=  
10000cm2
To convert from cm2 to m2
· Divide the number of cm2 by 10000

Centimetres and Millimetres

1cm
=
10mm

1cm2
=
1cm

x
1cm


=
10mm
x
10mm
=
100mm2
To convert from cm2 to mm2
· Multiply the number of cm2 by 100

1cm2
=
100mm2
To convert from mm2 to cm2
· Divide the number of cm2 by 100
